int main(){

Int T[4]={4,3, 2,1},

int *a, *b;

i nt x=10,vy;

Int **Z;

a=&x;

b=a;

y=*b;

a=&T[ 1] ;

b=T,

a++;

b[ 1] =0;

a=NULL,;

Z=8&b;

**7=8;

return O;

Pointersand arraysin C

RAM map

T[O] | T[1] | T[2] | T[3]

4 3 2 1 ? ? ? ?

T[O] T[2] | T[2] | TI3] a b
4 3 2 1 ? ? ? ?

T[O] T[1] | T[2] | TI3] a b X y
4 3 2 1 ? ? 10 ?

T[O] T[2] | T[2] | TI3] a b X y
4 3 2 1 ? ? 10 ?

T[O] T[2] | T[2] | TI3] a b X y
4 | 3 2 1 ’ > | 10 | 2

0000 |

T[O] T[1] | T[2]1 | TI3] a b X y

4 3 2 1 ’ s | 10 | ?
L —1

T[O] T[1] | T[2]1 | TI3] a b X y

4 3 2 1 ’ ? | 10 | 10
[ —

T[O] T[2] | T[2] | TI3] a b X y
4 | 3 2 1 t | ¢ |10 | 10

T[O] T[1] | T[2]1 | TI3] a X y
4 | 3 2 1 ? ? | 10 | 10
I 1 |

T[O] T[1] | T[2] | TI3] a b X y
4 | 3 | 2 1 ? s | 10 | 10
| —

T[O] T[1] | T[2] | TI3] a b X y
4 | o | 2 1 t | ¢ |10 | 10
| —

T[O] T[1] | T[2]1 | TI3] a b X y
4 3 2 1 NULL * 10 10
[

T[O] T[1] | T[2]1 | TI3] a b X y
4 3 2 1 |NULL| 1, | 10 | 10
1 Il

T[O] T[1] | T[2]1 | TI3] a b X y
8 3 2 1 |NULL| 1, | 10 | 10
1 |

—>




